	RESOLUTION: The US should militarily engage Iran


	Affirmative:
Nathan Johnston
	
	Negative:

Spencer Hinton



BASED ON THE FOLLOWING CATEGORIES, PLEASE RATE THE SPEAKING SKILLS FOR EACH DEEBATER
GIVE POINTS(1 TO 5) IN EACH BOX AND ADD THEM UP FOR A TOTAL

(5 PTS=SUPERIOR) (4PTS=EXCELLENT) (3PTS=AVERAGE) (2PTS=POOR) (1PT=NEEDS WORK)
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TOTAL POINTS
	38


	36



DOES THE WINNER HAVE LESS SPEAKER POINTS THAN THE OPPONENT?  (YES/NO)

	I voted for the (AFFIRMATIVE/NEGATIVE) ___Negative______ Represented by __Hinton__


PLEASE CIRCLE THE NAME OF THE WINNER ABOVE
	What did you like best about the Affirmative?

-Variety of Sources

- Good flow in speech


	What did you like best about the Negative?

· Good Cross Ex

· Good refutation of points

	Where can the Affirmative improve?

Gaping hole in argument: WWIII

- Since Russia is backing Iran already, attacking Iran would also cause WWIII

- Develop cross-ex more


	Where can the Negative improve?

· Less Uhms

· Develop more off point contentions 


PLEASE PROVIDE THE REASON FOR YOUR DECISION:

Neg proved Geopolitical backlash and economic costs outweigh “potential” of WWIII.

___Kyle Pollard________________________
JUDGE’S SIGNATURE AND SCHOOL AFFILIATION

THANK YOU FOR JUDGING.  PLEASE GET THIS BALLOT BACK TO THE BALLOT TABLE ASAP.

	RESOLUTION: The US should militarily engage Iran


	Affirmative:
Nathan Johnston
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BASED ON THE FOLLOWING CATEGORIES, PLEASE RATE THE SPEAKING SKILLS FOR EACH DEEBATER
GIVE POINTS(1 TO 5) IN EACH BOX AND ADD THEM UP FOR A TOTAL

(5 PTS=SUPERIOR) (4PTS=EXCELLENT) (3PTS=AVERAGE) (2PTS=POOR) (1PT=NEEDS WORK)
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DOES THE WINNER HAVE LESS SPEAKER POINTS THAN THE OPPONENT?  (YES/NO)

	I voted for the (AFFIRMATIVE/NEGATIVE) ____AFF_____ Represented by _Johnston___


PLEASE CIRCLE THE NAME OF THE WINNER ABOVE
	What did you like best about the Affirmative?

Speaking voice (excluding last speech), logical questions and well thought out answers, Tone provides a lot of confidence and is very convincing, Your speeches were very organized and provided a lot of clash


	What did you like best about the Negative?

Your speech was very well organized. I thought you provided a lot of clash with your responses. Watch those verbal pauses it makes you less convincing.

	Where can the Affirmative improve?

Lower your speaking voice in the last round, you should have given reasons why going to war with Iran would also not spark a major conflict with other countries. You backed yourself into a “go to war to prevent war” stance which is really tough to defend.

	Where can the Negative improve?

Give me more specific examples of geopolitical backlash. You said it was a bad thing and I agree, but you had the aff with that argument. I think you failed to show how important this issue really is. Logically you put yourself at a disadvantage in your last speech.


PLEASE PROVIDE THE REASON FOR YOUR DECISION:

I bought the neg’s argument but he didn’t provide me with the necessary costs put forth in the resolution to prove his case.

________Cody Crockett___________________
JUDGE’S SIGNATURE AND SCHOOL AFFILIATION

THANK YOU FOR JUDGING.  PLEASE GET THIS BALLOT BACK TO THE BALLOT TABLE ASAP.

	RESOLUTION: The US should militarily engage Iran


	Affirmative:
Nathan Johnston
	
	Negative:

Spencer Hinton



BASED ON THE FOLLOWING CATEGORIES, PLEASE RATE THE SPEAKING SKILLS FOR EACH DEEBATER
GIVE POINTS(1 TO 5) IN EACH BOX AND ADD THEM UP FOR A TOTAL

(5 PTS=SUPERIOR) (4PTS=EXCELLENT) (3PTS=AVERAGE) (2PTS=POOR) (1PT=NEEDS WORK)
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TOTAL POINTS
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	28



DOES THE WINNER HAVE LESS SPEAKER POINTS THAN THE OPPONENT?  (YES/NO)

	I voted for the (AFFIRMATIVE/NEGATIVE) ____NEG_____ Represented by _Hinton___


PLEASE CIRCLE THE NAME OF THE WINNER ABOVE
	 What did you like best about the Affirmative?

Arguments were presented in an organized manner, each

argument built upon the last.

Incredible amount of material cited, credible and relevant

sources.


	What did you like best about the Negative?

Negative speech was effective, well-organized; he presented

the arguments on a lay-judge level.

Negative had great balance of citations and argumentation.

Negative kept an appropriate tone and composure throughout

round


	 Where can the Affirmative improve?

Affirmative failed to prove that war was the only possible option

for engaging Iran— there are plenty of other options including

economic embargoes, Global Aid removal, non-militaristic

strikes against their databases and war-networks ; however the

Negative did not bring this point up during his speeches so

this vote

Affirmative became assertive, almost hostile, during rebuttal

speeches. Cross Examination became catty.


	Where can the Negative improve?

Negative failed to meet all of the Affirmative’s case points;

however he did hit the case points that are relevant to the

debate.

Negative speaks entirely too fast; many of the points became

unclear because he rushed through his explanations. If I

cannot understand your argument, I cannot be persuaded..



PLEASE PROVIDE THE REASON FOR YOUR DECISION:

 Negative wins, because the Affirmative failed to prove that the

US should militarily engage in Iran. Although Negative did not completely negate all of the Affirmative’s case, BUT I am not

convinced, without reasonable doubt, that Iran should be invaded. With this hesitation remaining on the resolution, I must vote

negative.

________Chris Thomas___________________
JUDGE’S SIGNATURE AND SCHOOL AFFILIATION

THANK YOU FOR JUDGING.  PLEASE GET THIS BALLOT BACK TO THE BALLOT TABLE ASAP.







